
Find the coordinates of the point of intersection of the following two lines

     
 
 
 
    

 
  
 

                 
 
 
 
    

 
 
  

 

    

  

  

  
    

 
 
 
    

 
  
 

                

  

  

  
    

 
 
 
    

 
 
  

 

For two lines to intersect
      

      

      

                                 
                                  
                                   

         
             
          

                            
                       
                          

                                
                               

    
   
         
     

A+C

Sub in C

Check that these values hold true for  

                 

Find coordinates of point of intersection

                                 
                                  
                                   

Hence the two lines intersect at (3 , -3 , 2)
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